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The conclusion at the last INTT meeting
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« Modification of the ADC bins at 210 and 420 was

performed well. The ADC distributions look more
reasonable by the modification.

. 9™ dependence of the peaks position was not

obvious.

« ADC distribution with the requirement of a

tracklet association will be asked for preliminary.

» |t’s good to do the same with a triggered data

(not done yet).

» |t’s good to take zux from MBD (not done yet).



Treasure hunting from huge statistics again

After making the good event displays with the minor change, | had huge amount of data
(compared to the past) with the minor change. The dedicated cuts might change the
situation (&

» Event selection cuts

- Nipper > 3
) Nouter > 3
- N> 6
< not used this time. It’s maybe useless.
* Nyssociated/ N > 0.4
+ Nyssociated, inner! Ninner > 0-4
- N, IN > 0.4

associated, outer’ * Youter

« Cluster selection cuts
- cluster size (only ¢) < 5
- association to an INTT tracklet Event selection cuts



ADC distribution
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No 8™ is applied.
| didn’t expected that the new plot was significantly different from the old version.

That about 0™ '! dependence?

No ONTT selection
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Comparison between the old and new
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Comparison to Misaki’s results
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Expected peak region from calculation
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Comparison to Misaki’s results
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ADC distribution
with a selection
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The O™ dependence is clearly
seen except for very low angles.
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The O™ dependence is clearly
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Single histogram Tracklet angle dependence
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